
OOO CMY <CrPofi l'lnaecr>

III. CseaeHr,rr Q HOpMarr4BaX OUeHKra Qranauconofi ycrofi'tl4Boorl4
<18>, <19>

aefl TeJIbHocrI4 3a0Tpofi unxa

s oGctte"eHHocrl'l o6rgqgl!9rB <?0>

qeJleBoro rcro{llgePaHul <20> (H2

a3Mep co6crsenHblX AoH€xHbIX utraxa <21>

H1

176934/5245=33,7

H2

(9 1267+509 69 -5245+632-69251 I 82493+7 2+144369-5245 )= 1 30698 / 17 1689=0',8

l4s crpoxr,r 1190 6yx.6anaHca - 11409 rurc.py6 - cyMMa eueo6oporHblx aKrhBoB no xh'n'AoMy Ne 2

cocTaBnFer - 6g2.5rurc.py6, KOrOpan hAer I pacr{er HOpMarhBa LleneBoro ncnonb3OBanran cpeAcre( H2)

Cepe6peHHraxoe K'6.
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